1.  CAD stands for-
(@) Computer Automatic Design
(b) Computer Aided Decode
(c) Computer Automatic Decode
(d) Computer Aided Design
Ans. (d) [SSC CGL Aug. Exam 2014]

Expl:- Computer Aided Design (CAD) is the use of-computer
programs to create two-or three-dimensional (2D or 3D)
graphical representations of physical abjects. CAD software may
be specialised for specific applications, CAD software replaces
manual drafting with an automated process. CAD systems
requires a high-quality graphics monitor, a mouse, light pen or
digitising tablet for drawing and a special printer or plotter for

printing design specifications,

2. The Unix operating system Is generally known as—
(a) Multi User Operating System
(b) General Application
(c) Single User Operating System
(d) Single User Application Program
Ans, (a)

)

- [SSC CGL Aug, Exam 2014] o)

Expl:- Unix (UNIX for the trademark) is a multitasking, Multi
User Computer Operating System that exists in many variants.
The original Unix was developed at AT & T's Bell Labs rescarch

power user’s or programer's perspective, Unix systems are
characterised by a modular design that is sometimes called
the *Unix Philosophy', means the OS provides a set of simple
tools that each perform a limited, well-defined function, with a
unified filesystem as the main means of communication and a
shell scripting and command Janguage to combine the tools to
perform complex workflows,

centre by Ken Thompson, Dennis Ritchie and others, From the | -

3, Inthe field of Internet, WWW stands for-
(1)  World Wide Wrestling
(b) World Wide Web
(c) World Wide Wordstar
(d)  World Without Wrestling
Ans. (b) [SSC (10+2) Nov. Exam 2014]

Expl:- WWW stands for World Wide Web. The World Wide Web
is & system of internet servers that support specially formated
cocuments, The documents are formatted in a markup language
called HTML (Hyper Text Mark up Language) that supports
links 10 other documents, as well as graphics, audio and video
files. This means one can Jump from one document to another

{ ¥mply by clicking on hot spots,

Rakesh Yadav Readers Publicati»n Pwvt. Ltd.

Which application Is used for accessing ¢

» on Internet? : Il.lh:".""llg,
@ Operating system (b) Web browse, N
(c) Microsoft word (@) System sopy,
Ans. (3) IRSE (ey Nov, ,
Expl:- Web browser (commonly referred to gy Uy

tion for retrieving, presentin
?m:nwmm on the World Wide wdf ::dm?’l . _h'
n c is |del'lnﬁ°d b}' a Uﬂjfﬂm RES(.)urm ldcﬂliﬁw
URL)tnd Moy b 8 e PRES, g ideo o gt (g
content. Hyperlinks present ml re::umm enable Users “:, of
navigate their browsers to relat : TesOurces, The"rujw‘.lhﬁ
browsers are Firefox, Intemet Explorer, Google cpy,, IOt wyy
and Safari. 2 'Oy
5. Unsorted\transaction that can be m
: w

s update a database Is called as-
(o) Direct database access

( ’{, (b) Sequential database access

‘ (c) Alicrnate database access
(d) Instance database access

Ans. (n)

Expl:- In Dircct database access, we can random;
ah; data from the database. There is no need ¢ fnﬁo“'::;‘
¥

ISSC COL huly Exypyy
Al

sequence.
6. Which Is not an extension of a pletyr, Ale o
) 1

computer- :
(a) .Jpeg (b) .png
(c) gif (5 <

Ans. (d) [SSC CPO July Exap 2014

Expli- .mdb is not an extension of a picture file on 5
mdb is a database file used by microsoft Access,

Though Access is tied into the Microsoft Offige, MDB ;,
Access's own format, which is based on the Access Jet Dyyg)
Engine.

7. Anibble is equal to bits,

Ompug,

() 4 (b) 8
() 16 (d) 32
Ans. (a) [SSC (10+2) Exam 2013)

Expl:- A nibble is a 4 bits aggregation. It contains 4 bits, thers
are 16 (24) possible values, so a nibble is equal to a single
| hexadecimal digit.
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pvD refers to— o \a\!

(8) Digital Video Developer4, ( ']\j _

® Digital Video Device p _‘\‘x\-;&.‘\__.:*-"

© Digital Video Disc’ ’{ ) al

Wy, 0
(d) Noneof the above

) E-waste

m zol;ﬂ 3

ans (©) [SSC MTs Exam, 2013

J:- DVD stands for 'Digital Video Dise' of =
g::;'. Itisa dlgllal.op_ucnl dose storage f I iﬁwh
stori video, audio, images or data, Omat, for

g, In MS-DOS, the primary file name

Can contain up to

characters.

(@ 6 (b) 8

(©) 10 d 12
Ans. (b) [SSC MTS Exam, 2013)
Fl;. MS-DOS conlgins_mnx.inmm 8 characters and additional
3 characters to extension in primary file,

ste and to Supply Electric Power.
::ilsﬁﬁ'immln& repeating some statement s usually

(8)  Structure (b) Looping
i () Control structure  (d) Compiling
ns. (b) [SSC CGL Exam 2013]

®) To m% ina LAN
(©) To searc forwcb iges in internet

(d) Tipm\nfﬂﬁabﬁm
Ay, (99 [SSC MTS Exam, 2013]

Expl:- A web

browser is a software application for retrieving, | -
¢ | Presenting and *Pp b

traversin :
Wide Weh ¥ .lhfmﬂmmmﬂuwwd

Mi“&miﬂnmouwuhidmtiﬁdbyul}nlfmm
[‘.lm“g?mwm!?bﬂlwebmlw,vﬁwﬂm

16. In MS-Wordr Replace option comes under the menu.
(@) View

(b) File

(c) Insent (d) Edit
Ans, (d) [SSC MTS Exam, 2013]
Expl:- In MS-Word Replace comes under the edit menu.

17. CPU refers to-
(8)  Central Processing Unit
(b) Control Program Unit
(c) Central Program Unit
(d)  Control Program Usage

Ans. (a) [SSC MTS Exam, 2013]

Expl:- A Central Processing Unit (CPU) is the hardware within
8 compuer that carries out the ‘Instructions of a computer
program by performing the basic arithmetical, logical and input/

E_ USB refers to—

(a) Astoragedevice - (b) A processor
(d) A serial bus standard
[SSC MTS Exam, 2013)

(c) Aport type
Ans. (c)

output operations of the system.

18, Which of the following Is an Impact printer?

(2) Laser printer (b) Daisy wheel printer
(c) Inkjet printer (d) Bubble-jet printer
Ans. (b) [SSC CGL Exam 2013)
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Expl:- An impact printer is a type of printer that operates by
striking a metal or plastic head against an ink ribbon, Dot-matnix
printers, Daisy-wheel printer, Drum printer, Chain, printer a0d
Line printer etc are the Examples of Impact printer.
19. Identify the odd term amongst the following groups.
(b) Coaxial cable

(c) Optical fibre (d) Twisted pair wire
Ans. (a) [SSC CGL Exam 2013]
Expl::- Coaxial cable, optical fibre and twisted pair wire are
the wire medium for transfering the waves and microwaves are
20. What type of Information System would be recognised

by digital circuits?

(a) Only Roman System (b) Hexadecimal System

(c) Binary System (d) Bothaandb
Ans. (d) [SSC CGL Exam 2013]
Expl:- Digital circuits represent signals by discrete bands of
analog levels, rather than by a continuous range.
Alllevels within a band represent the same signal state, digital

(a) Microwaves

System.

21. Which among of the following is the top Internct Servi€e (1

Provider (ISP) in India in terms of market share(based

on subscriber base) with 9.97 million? AN
(1) MTNL () BhariAiel N/,
(©) BSNL (d) Hathwa @\{,}

Ans. () [SSC Sten ___gh‘ujéxam 2013}

Expl:- BSNL (9.97 million) broadband subscriber with'continues
to lead the table of top S internet service providers followed by
Bharti Airtel (1.4 million), MTNL (1. 10 million), Hathway (0.37
million) and You Broadband (0.22 million).

22. Telnetis a—
(a) Browser (b) Protocol
(c) Gateway (d) Search engine
Ans. (b) [SSC (10 +2) Exam 2012]

Expli- Telnet is a network protocol that allow the users 10
connect to remote computers over a TCP/IP network.

23. The term ODBC stands for—
(a) Object Database Communication
(b) Open Database Communication

circuits recognised both hexadecimal and binary  Information |

I Secti
Both the ALU and Control Section
storage location called- e
(@ Registers

(c) Bus

24. 5

Ans. (8)

Egtlm is called registers. It is a ?};{’l'f"'ﬂ
vailable s 8
1—5._ A translator for the
Janguage Is-

(2) Assembler

(c) Interpreter

Ans. (»)

(b) -Compiler
(d) Linker

(a) Chenna m%,* ) Pune
(d) Kolkata

© Bengaluru\’)
Ans. (b), A*‘x‘-\:\ . [SSC (1043 By
E?pl- s;;a computer PARAM is designed ang
Centl:e for Development of Advanced Comp“hﬂd;v(tg”b,
f Pun¢. D&(_‘L
37, The expansion of RDBMS is—
‘ ) Repairable Database Management Sysieiy
(b) Relational Database Management Systep,
(c) Relational Database Memory System
(d) Recurring Database Memory System
A () [SSC (10+2) Exqy, 201
Expl:- The Relational Database Mamg;mcm Syrag B |
is a Databasc Management Systeml that is based on the 'thnﬂ
model. oy
28. Abug in a program is-
(a) Statement
(c) Syntax (d) Both ‘b’ and ‘¢
Ans. (b) [SSC FCI Exam 21y
a is a mmable error which ca -
t?g:shﬁ:::fol;lmpmd result. o Progrg
29. Which one of the following allows computers to trapy,
data using a telephone line ?

(b) Ermor

(¢) Open Database Connectivity () Keyboard (b) CPU
(d) Object Database Connectivity (c) Modem (d) Printer
Ans. (¢) [SSC (10+2) Exam 2012]  Ans. (c) [SSC FCI Exam 2013)

Explk- Open Database Connectivity (ODBC) is a standard
application program interface for accessing Database
Management System (DBMS).

Expl:- A modem is a device that enables a computer to transnit
data over a telephone line or cable line.
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(a) Typed (b) Verbg) <
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() DIR

¥ By
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() FORMAT

7 (d) PROMPT

35, An address consists of- p
(b) Abase register

(c) Anindexregister (d) All of the above
Ans. (d) (SSC (10 +2) Exam 2012

| [Expl:- An address conststs of an offset, a base register and
I |:d=xrcmsm' To identify location of a data, _ 2
36. A.... is an input device, which is used for converting

pictures, maps and drawings ‘ into digital form for
storage in computers.

(@ OC
() MICR

(a) Anoffset

(b) OMR
(d) Digitizer

o (SSC CGL Exam 2012]
o e bl er e e

s ugeq
form for

in

for convertng pictures, maps and drawings ino digita

LU Cl
D :;E;:’::a!;::hltrmamng character should be
i ® /
© % @ -
A (9 [SSC CGL Exam 2012]
BApk- Chanerr v o .
4o T CClEr 74 is used for listing the values of control
W The following Character % define the format of

38 ABHt refers to-
() Binary informatics (b) Bilingual information

(€) Binary termishtor{” (d) Binary digit
Ans. (d) :f&c Constable (GD) Exam, 2012]
ﬁ?’" '{‘l"f}it nﬁu'.m binary digit. It is the basic unit of
™ Om Induml,m computing, A bit can havf: only one of the values
)

users to access accounts and pay bills.
%) Distance leamning  (b) Online banking
) E-commerce () Multimedia
Au. () _ [SSC Constable (GD) Exam, 2012}

| EXpk- E-commerce it buying and slling of products and
Services by consmers through an electronic medium, without
using any paper documents. It facilitate to access accounts and
40. The act of writing new data Into register—

(8) Is possible only when the register is an accumulator

(b) Is possible only when the register is an accumulator or

instruction register

(c) Erases the previous contents of the register

(d) Is non-destructive to existing contents
Ans. (b) [SSC (10+2) Exam 2012]
Expl:- The act of writing new data into register is possible only
when the register is an accumulator or instruction register.
41. 'Which one of the following is an Optical Disk?

(a) Jazdisk (b) Super disk
(c) Worm disk (d) Zip disk
Ans. (c) [SSC (10+2) Exam 2012]

M—Wmd&kmmﬁﬂﬂltm&fym
M.W@nmdiskdimymmv{mmm?a
m&hﬂm&mﬁﬂa&m&emdﬁkmm
like a CD-ROM.

————— - g T T



programs and data to be ugeq by the ;

42, Theterm Al’! refers to— 48. x:;::::; “'hm“!r
(a) Application Program Interface ing unit (b) Output '
(b) Application Program Interaction S aw @ Input
(c) Applied Program Interaction (c) Storage
(d) Application Process Interface Ans. (¢) (SSCFcy Ex
Ans. (a) [SSC (10 +2) Exam 2012] Wwiﬁ&m At

I._P ”__i';."_l-; o .. t g ‘. : - P P uﬁm whwﬁ : ; s, : .. . 4

s ielce pociie Bow o o oy | |1 beepls it

onents should interact with eachother.,  © | |requiredtoback '
 shot : In HTML, <B> and </B> tags display the o, o

™ '!:ll

43. A3.5inch floppy disc can store.... data, 49. i
n- . :
(2) 1.44 bytes (b) 144 MB (9 Black colour (b)) Background
(¢) 144KB (d) LMGB ) Bold (d) Bright
(
Ans. (b) [SSC (10+2) Exam 2012] " ({c) [SSCFCI Ey,
| . '.-. s = . i = D ns. ") m 2012
| Expl:- A 3.5 inch floppy disc can store 1,44 MB data, ] Expl- The HTML<B> tag 18 used for specifying bolg ]
44, Plck the odd one out- The inteation with this 18g 18 0 markup text ag oy . IxC
(a) Javaclients (b) Worms con myuﬂlwm‘f R %“
; (¢) Trojan horse (d) Virus 50. Whichof th:‘fﬁllﬁﬁ}nﬁ’ls not a hardware?
{— Ans. (a) [SSC (10 +2) Exam 2012] (a) gssor chip &) Srter
; - d) Java
Expiz- Worms, Trojan horse and virus aro all malicious programs | /() jM0 o
i that c;; cause damage tolyour computer. Whereas Java clients Am’f“(cd)‘f’ [SSC FCy Exam 201y,
to | v 3 s " .
| LIS coverge 10 Appilcation Program Intecfice. — ( TExpls-Java i a st of several compuler software progucy
r-; bl 45. The rate at which scanning is repeated In a GkIJ! {-lon?étﬁcr provides a system for developing H.Pl'-'l:cution $0ftway,
{8 called- s | and deploying it in 8 cross-plaform computing envirgnyer
g.' i | (a) Refncsh rate (b) Resolution i :.{:*; \.\ 51. Which one of the following Is & system softwares
| S (c) Hpitch (d Bnndwiti_?;'-. - ' (a) Database programs
N Ans. (a) A _[%BG-.{_IQ}#Z)’Exnm 2012) (b) Word processors
; a1 Expl:- The refresh rate is the number of times a displays image (c) Spreadsheets
| 2| |is repainted or refreshed per second. It is expressed in Hertz, It i _
| % 11 |isalso reforred as the scan rate. . e SS
ll --,-' i | Lo Ans. (d) 4 [ c FCI 20!2'
' || 46, Thesymbols used in an assembly language are- . is @ typo of co
il ; Expl:- The System software 15 a MPULer program
. e (c) Assembler (d) Machine Codes programs, ¢.g. BIOS, assembler, compilers, debuggers, System
Ans. (b) [SSC FCI Exam 2012] | utilities etc. )

'52, When a group of computers Is connected together jy

P 3 msicelce s o, Symbol o g e 19 0ai 8 small arca without the help of telephone lines, it is cafjeq

specify a computing function. In assembly language, mnemonics

are used to specify an opcode to represents a complete and (a) Remote Communication Network (RCN)
tional machine language instruction. (b) Local Arca Network (LAN)
47. The NOSHADE attribute In HTML (c) Wide Area Network (WAN)
(a) Dfﬁncs the thickness of the line | (d) Value Added Network (VAN)
(b) Displays the line in red _ Ans. (b) ) [SSC MTS Exam, 2012)
(c) Displays the line in dark grey = g af% onnoold o 4 wadl
4 Di : Expl:- When a group of comp N S area
(d) Displays the Example in red such as home, school or office building using network media,
Ans. (b) [SSC FCI Exam 2012] this network is called Local Area Network (LAN). The most
_ TR e ; | is the Ethernet and it is specified
Expl:- No shade attribute create a flat look solid fine. It di widely used LAN technology is e
the line in red. ; " s in a standard called IEEE 802.3.
l B ekt bros s g L o pa £33



c. The 5th generatiop tompy,
(3) Speech recognitiy,
(b) Anrtificial intelligm
(@ Very 1B seal gy
(d) Yacuum ttlbc;

B intelli i ,
;’:ﬂu tubes 810 the base of 1 o U gy (VI
.“‘ Wwhere does & computer .'te . -
() Memory Chip ®) cpy A0d shyppe date
(¢) Floppy Disk © Hugpyy 3
s.
5 - The CPU has 2 my ISSCMTSEXWIJ

¢ letter G used in 2G —
Th Spectrupm stands
() Governance =

(b) Globa}
(d) Gongk

. (©) Gencration

@) Personay

Data
Ans, (a) e

[SSC (10 +2) Exam 2011]

¢tsonal Digital Assistant (PDA) is a ferm for any
hand-held device that provides computing and
storage and retricval capabilities for personal or

0. Thedeyice '
thatconn omputeroutput for transmission
over “Ieph“?""!"};!%:mdt tpu

@  Interfaces e, \ ) Interpreter

" (c) liﬂTn \.) (d) VO pon
% (B, ™ [SSC (10+2) 2011]

hﬂ"m i-'l_'l:‘-lwice used for connecting 2 computer by a
?‘m : m‘!#w;mmmwmwu

mall 5

* Abug in a program Is a/an-

st = B (a) Stateme
(a) Primitive (b}.Q_[g\sT- %d\)) | Smﬂ: (:; x‘b‘m&“
(© System defined (d)s L‘xﬁl\f e ( [
5. (@ <9 %é\}% . [SSC (10+2) Exam 2011

e o s'cmm]'l’:’“"“"2011] E'“"A”“ﬂhlmisﬁmwﬁd:mimw

1:- Double is a primitive — crash or produ O : =
Exp produce invalid result.
data type supported by Java. . 62. DOSiss.
used for precise values such as Wl'l'ency _

57, Today, most of the computers available gpe
() 3rd generation computers
(b) 4th generation compute:s'
(c) 5th generation computers
(d) 6th generation computers

Ans. (b)- [SSC (10+2) Exam 2011
Expl:- Most of the oompmmmilibluuduy“%m

;_t,s, A high-speed network that connect local networks in

city or town.
() LAN (b) MAN
(c) WAN (d TAN
Ans. (b) [SSC (10+2) Exam 2011]

Rakesh Yadav Readers Publication Pvt Ltd

(b) Dual Operating System
() Disk Operating System
(d) Dial-up Operating System
(). [SSC (10+2) Exam 2011]
Expl:- Disk Operating System (DOS) was the first widely-
personal computer version of DOS called PC-DOS was developed
for IBM by Bill Gates and his new microsoft corporation.
63. One byte is equal to-

Ans,

(a) 8bits () 12bits
(c) 16bits. (d) 20bits
Ans. (a) [SSC (10 +2) Exam 2011}

Expl:- Abyte is a unit of data which contains eight binary digits
i.c., 1 Byte = 8 bits.

AQD




64. TheS " Al was a search engine. It js .
.Fpu.':::: :1::?;11 m:;m bullt Into m.feral hom m A«}}E zo}lﬂm kil Wbﬁ%
() Mainframes (b) Mini Computers 70. ATMIsthe abbreviation for- e
(¢) Micro Computers (d) None of the above @ Automatic Teller Machine
Ams. (c) [SSC (10+2) Exam 2011] (v) Automated Teller Machine
entic Teller Machine

‘Expk:- Micro computer is a complete computer on a small (© Auh
scale, it is also called personal computer. It used in' several @ Authorised Teller Machine

(¢) Programs that damages the computer software Expl:- In spreadsheet software, a table of values
rows and columns. Each value can have a predefined reluw'p

(d) None of the above to the other values. If you change one value, therefore. You may
Ans, (¢) [SSC (10+2) Exam 2011] nocdtoch!ns\‘rom“"“l“‘”“w‘“

Expl:- A computer virus is a computer program that can replicale 7, A Groupware is -
itself and spread from one computer to another without your (a) Hardware (b) Network ,
knowledge and runs against your wishes. It can causes a program '
1 operate incorrectly or damaging the computers software. (c) Software |
69. Alta Vista is a- Ans. (¢) !

| (a) Program (b) Software Expl:- A Groupware is also called collaborative software. It |l
| (c) Browser (d) Search engine refers to programs that help people work together collectively| |
\ Ans. (d) (SSC (10 +2) Exam 2011] * Lwhille located remotely from each other: |
i ' |

mm'gn:u.h 0) _,_,'__:chp(mampmsor}, mpim. Ans. ) [SSC(IGQ)EX
Teller Machine (ATM) is- )
, 65. What is the process of deﬁnlng tables? Expk- W on device that enables the cl; = \
- e g i wommnlﬂ“ Chients 10 oo it
W (a) Data definition (b) Data normalisation faancial msaﬂm without the need of a cashje, P&N
(c) Index definition  (d) Data administration . teller. wid h"&
Ans. (c) < [SSC(10+2) Exam 2011] 5y, Where was India's first computer Instaljeq»
. h s
Expli- The process bfdefmms tables in rctat:mal database i ,, (a) Indian Institute of Technology, Delhj
‘called index definition. 4 : (b) Indian ]nsumte of Sctmme, Bangalore
66. 2’:::];:; the following is an Enmple of a database *  (¢) Indian ll?““%“d S“’d Company Limiteg,  Bump,,
f (a) Organiser (b) Paradox ) Indtee mmjmnmw' i
| a ARS. (d) = A b [SSC CGL Exam 20
(6) Quattro pro (d) Corel draw — X
Expl:- India’s first computer installed at the Indian g~
. Am (@) (SSC(10+2) Exam 2011] |7 F e, Calcutta in 1956. 1t was the irst computer m‘;‘!%
I | Expl:- A database manager is a set of computer program, that in Asia outside Japan. iy
provides b:lsw database management functionalities including | ° 235 what is the commonly used unit for measuripg o, ™
! creation and maintenance of database & ission? Peeg
| : - . of data transm
b3 Organiser do the function such as address book and calender. (a) MegaHertz (b) Characters per secong
E' 67. What are the signals that inform the Opé'rnlh,g System (c) Bitsper second (d) Nano seconds
. that cti ? :
(a; slunr:e R - p;:; ’p{; v Ans. (©) [SSC CGL Exam 21
ormers -
nd is the Measur:
(c) Events < (% ers EXpE B rhie o BUS P2 s;o r :Jsmls au[;um 18 the
1 Ve j of data transmission. Langc 10 denoge te higy
Ans. (d) ; 1\;:: e [SSC(10+2) Exam 2011] | data speeds such as Kbps. Mbps.
Expl:- Handlers are the signals that inform the Operating System | 73.  In which of the following areas, a spreadsheet Software i
i that some activily has taken place, more useful? :
[ ' 68. Virus in a computer is a- () Psychology S :
() Chemical that attacks silicon () Statistics () Hesage sending
: . s % - [SSC CGL Exam 2¢
(b) Micro-organism that disturbs integrated circuits Ans. (c) 1)
|

(d) Firmware
[SSC CGL Exam 201

Babaskh Vasais Bandeaos Bobidicatlarcs Baad | 34 ' IRA



munication nety,

) i _ ROf... +.
LEAKS, awhistleblowers
. :fﬁ;gation based in- .
(a) s
© Sweden

A parallel port is most often gy

= % gl
£ Y {gl?ldﬁiﬁimr

® Printer ;
() Mouse \\a"x;::“*(d}”‘ﬁxterrmt Storage Dev:
(#) ¢ (Sscc i
Ans- GL Exam 2011

D

) Wide

© o reaNetwork (b) Local Area Network

Pﬂmﬂ
INetwork  (q) Metropolitan Area Network
[SSC MTS Exam, 2011]

T ~_ [$551042)Exam 2010}
m"i?‘;“’% science, there is only two Binary digits i.¢., 0
o B T o it arecalclated i 2. Wher is e
Science it is taken 15 used as a symbol to 1000, in computer
165 = 1024 bytes,

85 1024 {i.c., 210). So, 1 KB = 1 x 1024 By

Personal Computer External Technology
Personal Computer Extended Technology
(©) Personal Computer Expanded Technology

\ (@ Personal Computer Embeded Technology

= () [SSC (10+2) Exam 2010]
Elpl:- IB.M' .-w. : 5 ; :
,‘;::_wormumin 1983,it gave it the name Extended
mw‘:ﬂ anu_hcmiedmmynewmmmded features

t‘h&,m memory, CGA graphic card and got rid of
Pports from its earlier version.

_Apurzlllcl port is used to CORNECt number of guvs
E:n’?m:r. scanners, network adapters, By i is ““;‘:::\? such
e, n used

5. The first operational electronic digital computer js_

() ENIAC () EDVAC
(c) EDSAC (d) UNIVAC
ans. (3) [SSC Stenographer Exam 2011

ﬁ,g;_ENIAC (El:ctrgnic Nﬁlmriul-luteguwm Computer
was the first electronic mlmmm‘t

was capable of being reprogrammed 1o solve a

8. ENIAC was-

(8) An electronic calculator

(b)  An electronic computer

() Anmemory device

(d) An engine
Ans, (b) [SSSC (10 +2) Exam 2010]
Expl:- ENIAC was designed 1o give solution to all kind of
computing problems digitally and could be reprogrammed to
solve different computing as well as calculating USA’s defence
reserch laboratory. So, it was termed as electronic computer, that
too first in its own kind.

8. DTP stands for-

(a) Daily Text Printing (b) Desk Top Publishing

(¢) Desk Top Printing (d) Daily Text Publishing
Ans. (b) [SSC Stenographer Exam 2011]

Bakaeh Yadav Readere Publicatinn Pyl 184

85. One byte consists of-

(a) 1 bit (b) 4 bits
(c) 8bits (d) 10bits
Ans. (c) [SSC (10 +2) Exam 2010]
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86. An intelligent terminal-
(8) Has a microprocessor, but cannot be programmed by
the user
(b) Can process small data processing jobs, with the use of
*  alarge CPU
(c) Interacts with the user in English
(d) Cannot take data from the user
Ans. (b) [SSC CGL Exam 2010)

Expl:- Intelligent terminals include memory and processor t0
pdqrm'specinl display operations, which is superior to smart
terminal and much superior to dumb terminal. It is a computer
‘operating terminal that can carry out some data processing. 48
well as sending data and receiving it from a central processor.
87. The Processors speed of a computer is measured in—
(a) BPS (b) MIPS
(c) Baud (d) Hents
Ans. (b) . [SSC CGL Exam 2010]

Fxpl:- Processors speed of a computer is measured in Million
Instructions Per Second (MIPS) because the processors work is
to give instructions. Higher the MIPS of processor than mo
efficient the processor. '

o
-

. Cla AYaY
88 nguage is a— (L\‘i N
(8) Low level language N ;} b
(b) High level language -*“% s :\(i ;

(c) Machine level language<, \ "

o % "\\l\.} ; 1

(d) Assembly Ic@"?vé o |
Ans. (b) . [SSC CGL Exam 2010]
Expl:- C is high level programming language developed by
Dennis Ritchie in Bell Laboratory ‘C’ considering the change
it has brought in programming and the later more powerful
‘and developed versions borrowing from it, gave it the status of
mother of many programming languages.
89. Window 7, the latest Operating System from Microsoft

Corporation has Indian languages fonts. -

@ 14 (b) 26
(&) 37 (d 49
Ans. (d) [SSS CGL Exam 2010]

Expl:- Considering the ever growing IT industry in India
and reaching it in every nook of the country. Microsoft when
launched Window 7, it added many of the local languages fonts
of India to reach it to 49 Indian languages fonts.

90. In a 14” TV or computer monitor, the dimension of 14”
stands for-

(a) The length of the screen

(b) The preadth of the screen ‘

(©) The diagonal of the screen
@ The maximum length of the screey
Ans. (¢) [S5C s By

. ﬁenﬂﬁ““ of televisions Were ¢
m could have been calculateq ;ﬁ;‘l El'l :

e I
lw i : m* "l:~ b

91.

(a) Charles Babbage  (b) Stephen Hawgi,
- (c) WG Grace (d) John Lenpg, §

Ans. (8) (55C Investigarg, Exap,

lﬁ'r Charles Babbage gave the concept of , #

i alsoi
92. Whatls dlckiﬂ!dlfﬂl? -
R i ik
QN%-;{’MW tha sends ad eceves dt i g
(N () A form of computer engineering
(&) A digital process that is used to display 3 .
meonitor imggy .

Ans. (2)

Expl- The term ‘Clickjacking which means ,
technique used by bad intensions by the pro,

gives perception of some other useful data or fink tha
looking for and finally ends in revealing their owy 'lserj;
information or coatrol of their computer to the prog:mﬂ
malafide use. fn

93. LAN stands for-
(a) LandArea Network
(b) Local Area Network
(c) Local Access Network
(d) Local Area Netware

Ans. (b)
Expl:- LAN stands for Local Area Network in which cog

are interconnected in a limited area like school, ‘-'0“@!!.'0&._
home etc and it gives user freedom from need for jeygy
telecommunication lines.

94. WLL stands for-

(2) Walking Land Line
(b) Walking Loop Line

(c) Wireless Land Line

(d) Wireless in Local Loop

g
£2) %

[SSS Matric Leve] Exam 201y
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;J’r':l o erm pPC means—
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private Computer
personal Computer
¢ professional Computer
© ]‘-'crsoﬂal Calculator

is a personal computer whicp
work. It 15 8 computer
made to fulfill the bag

.ﬁ?C

e

g g::ﬂﬂﬂﬂ‘ i "ith dimengigp in
® 1073 () 10.6p
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}:V'I;I:l:—;““ of the followin,

fl- ometime back the launch of Tagio,

computer with oneterabyte'h W drive
(a) Infosys Technologies(b) Wipro
(c} HCL info system™ (&) IBM

first personal
Capacity?

Ans- (c)

Wdreyy Iy~ €xpansion of the term http in internet

::; :'Eh{? Text Transfer Protocol

B lgh-?r Transfer Text Protocol

[di ; Elrbnd Text Transfer Protocol
YPertext Transfer Protoeol

Ans. (g)
(SSC OEO Exam 2008]

zlpl:.‘. HTTP ;
hymxtmf" n application protocol which stands for
Webs datg e Pro1020l and is the foundation for World Wide

transfer

100. The
Period of the second generation computers was—

(@) 19461953 (b) 1940-1960
(©) 1959-1964 (d) 1965-1975

[SSC Matric Level Exam 2008]

A .2 ;

mﬁ:eﬁm:m} of transisors, the size and ability were
venient and it i

computery in 950 -1G64. it was termed as second generation

m:. .-C“"“‘ﬂ*f the following statements-

(A !“'7‘: l:’ y Osbomne produced the first portable computer.
/¥ % Tan Wilmut created the cloned sheep.

o

:- T A ———

.- HCL Info System which is India's "
pas announced in 2007 (15th July) that il mm

computer with one terabyte hard drive ;

8 A computer virus is—
(a) Achemical that attacks silicon
(b) A micro-organism that destroys integratedcircuits
(c) data that the computer fails to handle
(d) A special kind of computer program
Ans. (@) [SSC 50 Exam 2008]

- Anms. (¢)

Which of the statements given above is/are correct?~

(2) Only1 (b) Only2

(c) Both I'and 2 (d) Neither I nor 2

[SSC Matric Level Exam 2006]

Expl:- Adam Osborne is the inventor of 1" portable computer

Osbomam 1 while Tao Wilmut was the scientist who headed the
Which is considered as producing the first cloned mammal

{M)fmmanmﬂtsomﬁc cell, named as Dolly.

[SSC SO Exam 2008] 102. In a computer, what does RAM stand for?

(3) Ready to Access Memory

(®) Read At-a-Time Memory

(c) Random Access Memory

(d) Readily Available Memory

[SSC Matric Level Exam 2006]

Expl:- RAM stands for Random Access Memory which accesses
data véry fastly. It is considered as onc of the fasted memory in
computer,

Data are lost in RAM once the system is closed or shut down
while with ROM (Read Only Memory) this does not happens.

[Expli- A computer virus is a special kind of computer program
which can replicate itself and spread from one folder to another
and even from one computer to another if connected.

It is not to be confused with other kind of malwares like trojan,
computer WOTMS, SPywares etc.

Rakesh Yadav Readers Publication Pvt. Ltd.

103, IC in computers stands for—

(2) Integrated Charge (b) Integrated Current
(c) Integrated Circuits (d) Internal Circuits
Ans. (c) .[SSC SO Exam 2006]
493




Expl:- IC in computers stands for Integrated Circuits which is
usually made of silicon or germanium and is a small wafer.

It is credited with reducing the size of computers as well 8s,
enhancing the transfer speed of computers.

104. Who developed the concept World Wide Web? -

(a) Tim Bemers-Lec  (b) Microsoft
(c) Arthur Clarke (d) AT and T Bell Lab
Ans. (a) [SSC CPO Exam 2005]

Expl:- Tim Beners-Lee in 1989, who was a computer scientist at
% CERN used the earlier concept of hypertext systems and finally
gave an idea of the sysiem of interlinked hypertext document

v which is known as World Wide Web (W3).
~ 105. What is Teletext ?

(a)

(b)

(©

Flashing of telephone conversation on TV screen
Printing the text of the message on the telex machine

telephones without STD codes
(d)
screen

Ans. (d) [SSC CGL Exam 2004]

Connecting the local telephone with outstation

Flashing of the text of news and information on the TV

Expl:- Teletext is a television information retrieval service.

Teletext means of sending text and diagrams to s properly
equipped television screen by use of one of the vertical blanking
interval lines that together form the dark band dividing picture

! horizontally on the TV screen.

106, The Processing of a data

file to reduce s size for storage
on disk is termed- T -

._\-.'I; .

(@) Amplification . () "Reduction
> " (c) Compression (@) Rarefaction
Ans. (c) [SSC CGL Exam 2004]

Expl:- Compression is the processing of a data file to reduce its
size for storage on disk.

It allows users to make one or more files into a smaller zip file.

107. What is an organisation’s introductory web page called?

(a) Portal (b) Vortal
(¢) Homepage (d) Web site
Ans. (c) [SSC CGL Exam 2003]

Expl:- An organisations introductory web page is called home
page. The first page that appears upon to open a web browser
program, which is also called start page, index page or main

page.
108. The first computer language developed was-
(a) COBOL (b) BASIC
{c) FORTRAN (d) PASCAL
Ans. (c) [SSC SO Exam 2003]

Rakesh Yadav Readers Publication Pvt. Ltd.

e ula Translation
Expl:- FOR':RAN (Fommm by 1(,}:“
$954, FORTRAN is sill used today for pr Sejey
and mat? matical applications.
ing Who among of the following develgpey Wors
i which gave a new type o lm‘ld Wy
exhibition? L

(a) Bob Cohen (b) Tim Bemml.ee

(c) Robert MomisJr.  (d) Michel Derstuge,

] -Bms-l.&cdefrelopedthe World Wige v |
m Es,mm of interlinked hypertext dowm:j.b-(w.,.
ia the Internet. In March, 1989 Til.:n Bemers Tae :Nﬂ
.:°‘It_ the

CERN scientist, wrote 2
World Wide Web.
. h among of the following is a gjs tiner
e I:‘;'h::hll:h a CD ROI}‘.!{ drive is classifieq i
computer? N A Y
@ Sofwarebiidle > (b) Data transfe
(c) ﬂi{(ﬂ Cﬂ‘ﬁé‘? (d) Storage period
.\:-.'f"‘\:l ESSC SO
s A2 Vi Exam

‘ ] i ted with a speed f;

J:- CD-ROM drive are ra P
tllzzic CDs. Ifa CD-ROM' is read at the same speeg e ::u,,.e D
| CD, the data transfer rate is 150 kbytes/s, commonly pege ;::la

as Ii( By increasing the speed at which the disc ig spin o
be transferred at greater rates. P

| . Backy :ﬁ,}'q

7

ta
a per'h.‘

003!

o

L]

111. Which of the following circuit is used as 'i\[g-moq oy
in computers? t
(a) Rectifier (b) Flip-Flop :
(c) Comparator (d) Attenuator

Ans. (b) [SSC CGL Exan 200

i ' for storage or m .
Expl:- Flip-Flop can be uscd emory
Fli]l:-lFlop :r. latch is a circuit that has 2 stable states, The ;t‘:‘:;

the circuit can be change by signal applied to 1 OF MOte congy
input.

112. Which of the following is not reckoned as a valye i
telecommunication service?

(a) Electronic Mail (b) STD
(¢) FAX (d) Radio-Paging Service

Expl:- Value-added telecommunication services provides valus
addition to the customers information by enhgmmg its form o
content or by providing for its storage and retrieval. Fax is ot

113. The basic application of an AND gate in cumpnm:g;

for-
(a) Addition (b) Substraction
(¢) Multiplication (d) Division

AG04



i geveloped the cunce(;:) of E-majp
gill ¢ Attty € 0y
® Ray Tomlinson @) Sabir Bhat

(©)

(Ssc

5 Tomlinson, a US programmer CFL Exam 2002)

;11;;:‘““ in 1971 on the ARPANET m““ﬂt‘;::med an
d mail between users op ‘hﬂlﬂtﬁl Sysiem

S‘n ; : .hoﬂs ﬂomw to

s

®) Magnetic Neg;e
(@) Graphics Card
{SSC Mﬁtﬁc LEVCI EXIIII'I 200

3

series of |
Passey over

the depth of

Y

Data is wrincn_ over a CD-ROM
g.l?l' at @ microscopic level. Whenp |
: I)'Teﬂ ccted beam makes a specific
it '-h"z_ . written over disk is approx -
s“rr'"'c: light. S0, the reflected beg

of l’s:'.hich-is rcadable.

aser beam
pattemn
to -

;. tryou undergo s CAT scan then you haye pegg gy =
: to- '
(a)
®
()
(@
ABS. (d)
.. CAT scan stands for Computerised Axial T,
-4 is an imaging procedure 1o produce jma [
gﬁc arcas of the body with the help of mﬁ;mp: :ml ol'!
Xerays.

| \
A Computer aided test

A Computensed axial topography
A Computer aided tomography

A Computerised axial tomography

[SSC Matric Leyel Exam 200

Ans. (4)

9. How much data

T

|
8. Inl'ormallon Tee

(a hnology Is the combination of-

) . :

® c""fP'-“!ﬂg, business and communications
B""‘"‘“. internet and software

(c) Microelectron;

Cs, computing and communications
(d] Dﬂ&base man

agement, communications and internet
[SSC Matric Level Exam 2002]
MM - nationof featureslike databasemanagement,

like iwm'm' with the help of wide communicating tools
to%m » WAN etc. The main purpose of IT is to help

Expl:-ITistne

LAN
effectively and instamily,

does a standard floppy disk hold?
W si2ke (b) 1.44MB
9 s (@) 1GB
An
= [SSC Matric Level Exam 2002]

e Floppy disks has different dota holding capacities

KB m"g‘ upen the type of floppy disks. Such as 720 KB 1440

i ut, the most standard and common floppy dic’s being
Ve 1440 KB i.e., 144 MB of data storage capacity.

20. An clectronic device that produces sounds from

~ Instructions in & mini file is a—

" f#)?\_S)fnmcsiser (b) Scanner
(% (€)  Speaker (d) Sampler
Ans. (a)

[SSC Matric Level Exam 2002}

:::I:'&m“”‘hﬁﬁmm electric signals which is converted
it sound through the hardwares like speakers o headphones.
'8 40 electronic instrument capable of producing wide range of
Signals and hence, wide range of clectronic sound.

121, Atechnique for producing animation in which one image
changes into another Is called-

(a) Embedding (b) Linking
(c) Morphing (d) Scanning
Ans. (c) [SSC Matric Level 2002}

E’fpi“_MmPﬁ“E is a technique of special effect in pictures and
animation which scamlessly transit one image into another, It is
mln create fantasy and imaginery sequence in an animation

122, Information in a combination of graphics, text, sound

(7. Microsoft Power Point is a software designed to create_
(2) Internet Browsers (b) Data Bases
() TextDocuments  (d) Multimedia Presentations

Ass. (d) [SSC Matric Level Exam 2002}

video and animation is called-
(a) Multiprogram (b) Muliifacet
(c) Multimedia (d) Mutliprocess
Ans. (c) [SSC Matric Level Exam 2002]

Expl:- Multimedia is a combination of different kind of
information so that the single outcome is most eifective at the

Expl:- MS Power Point is used to design, edit, create multimedia
presentations which comes in slides and can use features like
ics, animations, sounds etc to enhance the quality and

| |effectiveness of the presentation.

user end.

It enhances the quality of information from ils pradecessor
versions which are distinctive and isolated from cach vther.

Rakesh Yadav Readers Publication Pvt. Ltd.
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